ol
s

a 7} Aol 1

@ 3 3 5 @ 10 ® 30

@D 2



2. 5V24- V544 V96 & A5 SHH AVB 2 LERE 5= it o] o,
A+ B 327

@D 20 @ 19 3 18 @ 17 3 16



® 26

=B

S



4.

X2 4+4x-21, 3x2-5x-12 9 FE

D x+14 @ x+7
@ 3x-9 ® x-3



5. 4 6x+1l-a=00] shte] 2L 7H o), o 9 e Fotolet,

>R
=%



0

A a2 —4x+2 =0 9 5 0] Fo] WAA 22 - 3x—k

o, A k o] 72?

ki

1%}

6.

1

ol

‘ol

@ 2 3 3 @ 4 B 5

@D 1



ol
_zru



262 o] JPLE x Fo
& At ol o

@ 4 3 6

® 10



the 782 oW o]|3H20] T me] 9
HBo] AAA U7t Aolt}, o] o|a}pgr4=9]
a#=I A (5, a) B AY W, 0 9 L
Totoiet,

", \
)
1o
\ )
)
)

2 e

J]//[

0] J 4T

\




243 242 L
10. E 7tds] ofH?
V3 - 1+«/'—1 et

@® 5+ V3+ V2 @ 5+V3+2V2 @ 5+2V3+ 42
@ 7+V3+2v2 B 7123+ 42



@ x(x-6)
@ (x-4)(x+2)

@ (x+2)(x-6)
® x(x-4)



12, o]ZAA (x+1)(x-2) = -2x+4 9 F L a, b (a > b) °f H5}o]
2 tax+b=0° 227

D x=-3EEx=1 @ x=3FEcx=-1
@ x=2FEx=-3 @ x=3FE=x=-3



=

] %]

Yol o oy

2

19 o, o] &2

n(n—

o] ©
ae

o] 4 =]

0]
=

‘BO



14.

_]

o

>

=
=

Q.
=

ot ERAS

o

]

IH5o] 9= Hube Aof 2 22719 ¢
7F (407 — 8)m 22l & off, E=Alo] Hof| Wojx|= A

A g x 50| F5tofzth

v

it

=

flo pw

5 o
ol



15.

oS Od3 Zo] 7R 30m, AIE 20m ¢!
ZIA}2+e ko] ol Zo] AdASH A4S
TSI bt FoEre] yolzt 400 m? 7}
A st T uf, 4] =5 x e SlH x &

T Ao $E AT

@ x*-10x+ 600 =0
® x*-30x-200=0

® x2-50x+200=0

_--30m- _
T <

~

/1

[/

@ x2-20x+400=0

@ x%+40x+200=0




57 457t 575 e W, x 2 5 5739 502 ym
SHHl y = —x2 + 6x o] TAVH AR F1Fo] A4 ol

& 1] ol g Fofelel,



17.

1 1

1+vV2  V2+ 3

@D 6 ® 5



18. ax®+24x+b = (3x+c)® A W, ¥4 a, b, ¢ & @2 Zell= F5hA?

@ a=9,b=16, c=—4 @ a=9,b=8, c=4
®a=9,b=16, c=2 @ a=9,b=16,c=4

® a=3,b=-8, c=4



ol °F A3 H4 k

A2 124 4 ex = 7 o tiote] <

19. x of T o]
—-‘JBH\ % O}O:]ﬂ-

al:l-'
=



~1-€ 30 7} 40 Ato] o] 5 Apeiso] Sfse] Lol ol

20. Zeis 2100
o £ AA50] %S Fofede.

o},
D E



2
21. olARtr y = x? —ax + b O] 3] x F flol 9l % o @

Fatelet.

Yk
=



22,

QA y = ax+ b O DA} b 1T
1

S o, ojxetr y = §ax2 + bx+ 3 o] HA

SEEEEEEES

® (-2, 7) @ (-2, -7
® (7, 2) @ (-7, 2)




=G A% e 42 VB e ohrﬂ a+b4agi

D 98 ® 100 3 102 @ 104 ® 106



1

24. f(a)= Va+1++a¥ tm,f
Totofet,

S ER
=%

0N

o



1
X,y = —ZxQ +209] 2z g Sl =99

y
ol A HEE (x, y) o T W), &A1) A5E Fotoler



